CesStina: 2. lekce
Czech language: 2" lesson

Communicative Competency: What do you do in Brno?

Grammar: Word and its forms in Czech."Natural/grammatical genders in Czech.
Three genders of Czech nouns.

Nominative of singular in nouns, adjectives, pronouns, and numeral one
Demonstrative pronouns ten, ta, to.

Cardinal numerals 21—1000.



Opakovani | revision

Jak se jmenujete?

Odkud jste?

Negativ: http://mluvtecesky.net/cs/courses/ai/2/2/5

Diktat: Cisla 1—19

Cojeto?


http://mluvtecesky.net/cs/courses/a1/2/2/5
http://mluvtecesky.net/cs/courses/a1/2/2/5

Jak se mate?| How are you?

S —————

FORMAL INFORMAL

= Jaksema ? = Jaksema?

 Dobre. Ma se dobre. (+1)
. l}lormélné. Ma 1 se normalne. | Ujde to. (0)
* Spatné. Mar se Spatné. (-1)



Co délate v Brné? | What do you do in Brno?

E——— - e a = -

FORMAL INFORMAL
= Codelai - vBrne? = Codela vBrnée?

= Cotadydélate? = Cotadydela ?

Pt

* (VBrne) studuju.
* (VBrne) studuj medicinu.
* (VBrné) studuju medicinu na Masarykov: univerzit:.



Co délate v Brné? | What do you do in Brno?

FORMAL

= Codela = vBrne?

= Cotadydélaie?

MASCULINE

= Jsem student.
= Jsem student medicin .

= Jsem student mediciny na
Masarykove univerzite.

—— = = = — = =

INFORMAL

= Codela vBrne?

Co tady dela- ?

= Jsem ka.
= Jsem ka medicin.
= Jsem ka medicinv na

Masarykove univerzite.



Poslouchejte'a doplnujte.

S————

= Poslouchejte. Doplnte dg, t€, né nebo me.

= http://mluvtecesky.net/cs/courses/ai/2/3/3


http://mluvtecesky.net/cs/courses/a1/2/3/3
http://mluvtecesky.net/cs/courses/a1/2/3/3
http://mluvtecesky.net/cs/courses/a1/2/3/3

Work in pairs

MAKE DIALOGUES. ASK EACH OTHER THESE QUESTIONS. WRITE
THE ANSWERS DOWN.

1. Jakse jmenuj--?
2. Odkudj=?
3. Jaksema:-?

4. Codeélac vBrne?



Poslouchejte a doplnujte! Listen and
fill in.

= | ekce 2—2V menze

= http://mluvtecesky.net/cs/courses/a1/2/2



http://mluvtecesky.net/cs/courses/a1/2/2
http://mluvtecesky.net/cs/courses/a1/2/2
http://mluvtecesky.net/cs/courses/a1/2/2
http://mluvtecesky.net/cs/courses/a1/2/2
http://mluvtecesky.net/cs/courses/a1/2/2

How to recognize gender

S————

= natural
muz x , pan-x pani, pritel x , kolega x
student x , doktor x , Cech x

= arbitrary (must be memorised)

, Nor x

X X pivo, méesto



How to recognize gender? — nouns

= —— - — - = = e W

= by endings (check the end of the word)

- O = neutre: pivo, Brno, mésto (city), jablko (apple), kakao, maslo (butter), maso (meat),
mléko (milk), vino

= mostly feminines: zena, maminka, doktorka, profesorka, zmrzlina (ice cream), okurka
(cucumber), mineralka, kava, cigareta

= mostly masculines: student, doktor, telefon, cukr, citron, dort, rohlik, salam,
Syr



How to recognize gender? — adjectives

S ————— — —— - —— =

= by endings (check the end of the word)

-Y- masculines: dobry student, mlady doktor, novy telefon, levny cukr, velky citron,
maly dort

= mostly feminines: dobr: kniha, vysok: zena, mlad: maminka, bohat: doktorka,

chud: profesorka, studen: zmrzlina (ice cream), levn: okurka (cucumber), dobr
mineralka, hork: kava, sSpatn: cigareta

— E = neutres: dobré pivo, krasne Brno, velké mesto (city), malée jablko, teple kakao, to

nove maslo, staré maso, studenée mléko,
drahe vino



How to recognize gender? — demonstratives

S —————

= by endings (check the end of the word)

b= TE N - masculines: ten dobry student, ten mlady doktor, ten novy telefon, ten ten
levny cukr, ten velky citron, ten maly dort

-1 = mostly feminines: t- dobr- kniha, t= vysok: zena, t- mlad: maminka, t- bohat

doktorka,t chud: profesorka, t= studen: zmrzlina (ice cream), t- levn- okurka
(cucumber), t= dobr- mineralka, t- hork- kava, t= Spatn- cigareta

" TO = neutre: to dobre pivo, to krasne Brno, to velke mésto (city), to male jablko (apple),

to teplée kakao, to nove maslo (butter), to stare maso (meat), to studene mléko (milk),
to drahé vino



How to recognize gender? — number 1

S —

= by endings (check the end of the word)

—JED = masculines: jeden student, jeden doktor, jeden telefon, jeden cukr, jed
citron, jeden dort

—JEDN = mostly feminines: jedn kniha, jedn- zena, jedn- maminka, jedn

doktorka, jedn= profesorka, jedn= zmrzlina,
jedn: okurka, jedn- mineralka, jedn- kava, jedn: cigareta

v .J EDN O = neutre: jedno pivo, jedno Brno, jedno mesto (city), jedno jablko (apple),
jedno kakao, jedno maslo (butter), jedno maso (meat), jedno mléko (milk), jedno vino



Rod | gender

Ma: masculines animates (males)

Mi: masculines inanimates (objects, gender is arbitrary)
F: feminines (females + objects with arbitrary gender)
N: neutres (babies + objects with arbitrary gender)

= Ma: ten Cesky student i: ten novy
aceska

= N:to Ceske pivo



Homework

Review today's lesson.



